

County Distribution Detail Report through 06/28/2024

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	844	2,179	22	3,045	\$3,806.25	\$82.59	\$3,723.66	0.70	\$2,606.56
							Entity Tot	al:	\$2,606.56
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,606.56
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,223	11,834	2,028	15,085	\$18,856.25	\$397.04	\$18,459.21	0.70	\$12,921.45
							Entity Tot	al:	\$12,921.45
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,921.45
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	808	1,334	3	2,145	\$2,681.25	\$59.51	\$2,621.74	0.70	\$1,835.22
							Entity Tot	al:	\$1,835.22
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,835.22
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,408	4,484	86	5,978	\$7,472.50	\$151.09	\$7,321.41	0.70	\$5,124.99
							Entity Tot	al:	\$5,124.99

Adjustment:

\$0.00

Total Amount:	\$5,124.99

Brookings

J									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	8,496	24,351	1,236	34,083	\$42,603.75	\$914.83	\$41,688.92	0.70	\$29,182.24
							Entity Tota	al:	\$29,182.24
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$29,182.24
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	4,772	29,978	3,113	37,863	\$47,328.75	\$1,023.84	\$46,304.91	0.70	\$32,413.44
							Entity Tota	al:	\$32,413.44
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$32,413.44
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	2,005	4,091	88	6,184	\$7,730.00	\$156.69	\$7,573.31	0.70	\$5,301.32
							Entity Tota	al:	\$5,301.32
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,301.32
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	551	505	1	1,057	\$1,321.25	\$49.01	\$1,272.24	0.70	\$890.57
							Entity Tota	al:	\$890.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$890.57
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,536	7,366	321	9,223	\$11,528.75	\$248.13	\$11,280.62	0.70	\$7,896.43

							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,896.43
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	526	1,460	17	2,003	\$2,503.75	\$56.98	\$2,446.77	0.70	\$1,712.74
							Entity Tota	al:	\$1,712.74
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,712.74
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	2,097	6,055	19	8,171	\$10,213.75	\$206.73	\$10,007.02	0.70	\$7,004.91
							Entity Tota	al:	\$7,004.91
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,004.91
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1	3,137	45	3,183	\$3,978.75	\$80.17	\$3,898.58	0.70	\$2,729.01
							Entity Tota	al:	\$2,729.01
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,729.01
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	477	3,455	154	4,086	\$5,107.50	\$146.06	\$4,961.44	0.70	\$3,473.01
							Entity Tota	al:	\$3,473.01
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,473.01
City of Pierre, Hugh	es Co.								

Entity Total:

\$7,896.43

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,020	12,181	2,034	15,235	\$19,043.75	\$413.22	\$18,630.53	0.70	\$13,041.37
							Entity Tota	l:	\$13,041.37
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$13,041.37
City of Sioux Falls, L	_incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,197	34,777	5,421	41,395	\$51,743.75	\$1,086.88	\$50,656.87	0.70	\$35,459.81
							Entity Tota	l:	\$35,459.81
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$35,459.81
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	955	2,700	78	3,733	\$4,666.25	\$101.68	\$4,564.57	0.70	\$3,195.20
							Entity Tota	d:	\$3,195.20
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,195.20
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	721	8,315	771	9,807	\$12,258.75	\$258.90	\$11,999.85	0.70	\$8,399.90
							Entity Tota	d:	\$8,399.90
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$8,399.90
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	2,752	21,602	3,407	27,761	\$34,701.25	\$767.61	\$33,933.64	0.70	\$23,753.55
							Entity Tota	l:	\$23,753.55

Corson							Adjustment: Total Amount:		\$0.00 \$23,753.55
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	712	1,134	477	2,323	\$2,903.75	\$60.83	\$2,842.92	0.70	\$1,990.04
							Entity Tota	al:	\$1,990.04

5,252.		.,		2,020	ΨΞ,0000	φοσιοσ	ΨΞ,Θ :Ξ:ΘΞ	00	ψ1,000101	
							Entity Tota	al:	\$1,990.04	
							Adjustmer	Adjustment:		
							Total Amo	unt:	\$1,990.04	
Custer										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
5/2024	2,700	7,048	42	9,790	\$12,237.50	\$279.56	\$11,957.94	0.70	\$8,370.56	
							Entity Tota	al:	\$8,370.56	
							Adjustmer	nt:	\$0.00	
							Total Amo	unt:	\$8,370.56	

Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	2,616	15,881	1,574	20,071	\$25,088.75	\$529.71	\$24,559.04	0.70	\$17,191.33
							Entity Tot	al:	\$17,191.33

	,	VIII,IOIII
	Adjustment:	\$0.00
	Total Amount:	\$17,191.33
Day		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,398	3,942	216	5,556	\$6,945.00	\$143.07	\$6,801.93	0.70	\$4,761.35
							Entity Tota	al:	\$4,761.35

	Adjustment:	\$0.00
	Total Amount:	\$4,761.35
Deuel		

Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

5/2024	1,251	3,321	119	4,691	\$5,863.75	\$121.41	\$5,742.34	0.70	\$4,019.64
							Entity Tota	al:	\$4,019.64
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,019.64
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	971	2,320	9	3,300	\$4,125.00	\$85.78	\$4,039.22	0.70	\$2,827.45
							Entity Tota	al:	\$2,827.45
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,827.45
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	867	3,218	138	4,223	\$5,278.75	\$107.34	\$5,171.41	0.70	\$3,619.99
							Entity Tota	al:	\$3,619.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,619.99
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	2,411	5,341	47	7,799	\$9,748.75	\$205.08	\$9,543.67	0.70	\$6,680.57
							Entity Tota	al:	\$6,680.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,680.57
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	592	1,687	53	2,332	\$2,915.00	\$58.87	\$2,856.13	0.70	\$1,999.29
							Entity Tota	al:	\$1,999.29
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,999.29

^			
	ra	nt	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,145	5,885	587	7,617	\$9,521.25	\$227.11	\$9,294.14	0.70	\$6,505.90
							Entity Tot	al:	\$6,505.90
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,505.90
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,454	3,666	9	5,129	\$6,411.25	\$146.98	\$6,264.27	0.70	\$4,384.99
							Entity Tot	al:	\$4,384.99
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,384.99
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	842	1,438	3	2,283	\$2,853.75	\$57.85	\$2,795.90	0.70	\$1,957.13
							Entity Tot	al:	\$1,957.13
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,957.13
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,158	4,441	122	5,721	\$7,151.25	\$146.18	\$7,005.07	0.70	\$4,903.55
							Entity Tot	al:	\$4,903.55
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,903.55
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	540	2,787	376	3,703	\$4,628.75	\$101.48	\$4,527.27	0.70	\$3,169.09

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,169.09
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	631	3,282	81	3,994	\$4,992.50	\$114.23	\$4,878.27	0.70	\$3,414.79
							Entity Tota	al:	\$3,414.79
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,414.79
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	585	910	1	1,496	\$1,870.00	\$47.57	\$1,822.43	0.70	\$1,275.70
							Entity Tota	al:	\$1,275.70
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,275.70
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	485	3,395	201	4,081	\$5,101.25	\$142.84	\$4,958.41	0.70	\$3,470.89
							Entity Tota	al:	\$3,470.89
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,470.89
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	2,182	5,666	62	7,910	\$9,887.50	\$201.80	\$9,685.70	0.70	\$6,779.99
							Entity Tota	al:	\$6,779.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,779.99
Hyde									

Entity Total:

\$3,169.09

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	541	1,056	12	1,609	\$2,011.25	\$40.74	\$1,970.51	0.70	\$1,379.36
							Entity Tota	al:	\$1,379.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,379.36
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	534	975	8	1,517	\$1,896.25	\$38.14	\$1,858.11	0.70	\$1,300.68
							Entity Tota	al:	\$1,300.68
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,300.68
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	660	1,495	21	2,176	\$2,720.00	\$55.14	\$2,664.86	0.70	\$1,865.40
							Entity Tota	al:	\$1,865.40
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,865.40
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	405	775	5	1,185	\$1,481.25	\$30.42	\$1,450.83	0.70	\$1,015.58
							Entity Tota	al:	\$1,015.58
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,015.58
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	801	4,176	296	5,273	\$6,591.25	\$149.75	\$6,441.50	0.70	\$4,509.05
							Entity Tota	al:	\$4,509.05
							Adjustmer	nt:	\$0.00

							Total Amo	ount:	\$4,509.05
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,476	9,855	792	12,123	\$15,153.75	\$337.96	\$14,815.79	0.70	\$10,371.05
							Entity Tota	al:	\$10,371.05
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$10,371.05
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	4,243	20,236	1,735	26,214	\$32,767.50	\$705.09	\$32,062.41	0.70	\$22,443.69
							Entity Tota	al:	\$22,443.69
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$22,443.69
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,785	28,641	2,453	32,879	\$41,098.75	\$963.07	\$40,135.68	0.70	\$28,094.98
							Entity Tota	al:	\$28,094.98
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$28,094.98
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	978	1,978	365	3,321	\$4,151.25	\$89.04	\$4,062.21	0.70	\$2,843.55
							Entity Tota	al:	\$2,843.55
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,843.55
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,197	3,300	172	4,669	\$5,836.25	\$133.45	\$5,702.80	0.70	\$3,991.96

							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,991.96
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,469	4,643	28	6,140	\$7,675.00	\$157.59	\$7,517.41	0.70	\$5,262.19
							Entity Tota	al:	\$5,262.19
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,262.19
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	761	1,643	4	2,408	\$3,010.00	\$74.73	\$2,935.27	0.70	\$2,054.69
							Entity Tota	al:	\$2,054.69
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,054.69
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,727	21,441	952	24,120	\$30,150.00	\$656.64	\$29,493.36	0.70	\$20,645.35
							Entity Tota	al:	\$20,645.35
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$20,645.35
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	497	760	28	1,285	\$1,606.25	\$32.36	\$1,573.89	0.70	\$1,101.72
							Entity Tota	al:	\$1,101.72
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,101.72
Miner									

Entity Total:

\$3,991.96

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	799	1,773	24	2,596	\$3,245.00	\$67.14	\$3,177.86	0.70	\$2,224.50
							Entity Tota	l:	\$2,224.50
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,224.50
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	16,881	167,401	18,704	202,986	\$253,732.50	\$5,613.26	\$248,119.24	0.70	\$173,683.47
							Entity Tota	l:	\$173,683.47
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$173,683.47
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	798	5,270	134	6,202	\$7,752.50	\$170.35	\$7,582.15	0.70	\$5,307.51
							Entity Tota	d:	\$5,307.51
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,307.51
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	12,097	93,990	9,884	115,971	\$144,963.75	\$3,154.31	\$141,809.44	0.70	\$99,266.61
							Entity Tota	d:	\$99,266.61
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$99,266.61
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,537	2,437	6	3,980	\$4,975.00	\$111.11	\$4,863.89	0.70	\$3,404.72
							Entity Tota	l:	\$3,404.72

Adjustment:	\$0.00
Total Amount:	\$3,404.72

Potter							1 0 000 7 0000		40 , 10 <u>-</u>
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	874	1,969	7	2,850	\$3,562.50	\$71.71	\$3,490.79	0.70	\$2,443.55
							Entity Tota	al:	\$2,443.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,443.55
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	2,696	5,713	31	8,440	\$10,550.00	\$236.95	\$10,313.05	0.70	\$7,219.14
							Entity Tota	al:	\$7,219.14
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,219.14
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	611	1,953	13	2,577	\$3,221.25	\$68.28	\$3,152.97	0.70	\$2,207.08
							Entity Tota	al:	\$2,207.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,207.08
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,140	4,979	457	6,576	\$8,220.00	\$169.93	\$8,050.07	0.70	\$5,635.05
							Entity Tota	al:	\$5,635.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,635.05
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

5/2024	250	2,476	390	3,116	\$3,895.00	\$82.70	\$3,812.30	0.70	\$2,668.61
							Entity Tota	ı.	\$2,668.61
							Adjustmen		\$0.00
							Total Amo		\$2,668.61
Sully									4 =,000.0.
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	508	1,316	4	1,828	\$2,285.00	\$46.96	\$2,238.04	0.70	\$1,566.63
							Entity Tota	l:	\$1,566.63
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,566.63
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	0	57	3	60	\$75.00	\$12.23	\$62.77	0.70	\$43.94
							Entity Tota	ıl:	\$43.94
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$43.94
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,871	4,170	8	6,049	\$7,561.25	\$155.10	\$7,406.15	0.70	\$5,184.31
							Entity Tota	l:	\$5,184.31
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,184.31
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,389	7,023	133	8,545	\$10,681.25	\$217.76	\$10,463.49	0.70	\$7,324.44
							Entity Tota	l:	\$7,324.44
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,324.44

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,799	12,175	677	14,651	\$18,313.75	\$459.11	\$17,854.64	0.70	\$12,498.25
							Entity Total: Adjustment: Total Amount:		\$12,498.25
									\$0.00
									\$12,498.25
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	1,283	3,965	482	5,730	\$7,162.50	\$146.48	\$7,016.02	0.70	\$4,911.21
							Entity Total: Adjustment: Total Amount:		\$4,911.21
									\$0.00
									\$4,911.21
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2024	2,098	19,105	1,919	23,122	\$28,902.50	\$613.15	\$28,289.35	0.70	\$19,802.55
							Entity Total: Adjustment: Total Amount:		\$19,802.55
									\$0.00
									\$19,802.55
TOTALS	117,634	691,912	62,708	872,254	\$1,090,317.50	\$23,839.30	\$1,066,478.20		